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This cultivator has three hinges on each wing. Pin the front hinge first, followed by the middle and

then the rear. Leave all of the hinge bolts loose until all 3 hinge pins have been installed.

Use a 1” washer inside the roll pin on all three hinge pins.
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adjuster to 28”

\."| for VTM tines &
) ) 28.5” for VTH tines
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(dimension ‘A’)

Fold has high lift when turning in the field.

the cylinder. If not, a tine could hook itself over the wheel axel, requiring you to remove the

Make sure the wing adjustment slider is cranked out to 7 - 8" before raising the machine with
tine to unhook it.

This is due to the fact that the Double
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